Quiz 30 Solution  Fall 2010  December 3
This problem is from Lesson 8 material.
Sketch two cycles of the graph of 
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.  Identify the amplitude of the cosecant function, period, and phase shift.  Label the numbers on the  x- and  y-axes as needed.    Only label where each cycle begins and ends.
First, sketch the graph of 
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.  Since the coefficient of the x variable is 
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, then we will need to factor the 
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 out in order to identify the phase shift.  Thus, we have that
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NOTE:  We obtain the fraction  
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 by the following:  
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.
Amplitude for cosecant:  None
For this sine function, we have the following:

Amplitude  =  12

Period  =  
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Phase Shift:  
[image: image12.wmf]14

9

p

 units to the left

Since the phase shift is 
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 units to the left, then the first cycle starts at 
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.  Since the period is 
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, then this first cycle ends at 
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, obtained by 
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, the second cycle ends at 
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, obtained by 
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, and the third cycle ends at 
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, obtained by 
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.  In order to not cross the y-axis, the second and third cycles will be drawn for the required two cycles.
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